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The number of terms in a standard quadratic equation ax’ +bx+c=0 is A PSUA AL’ +bx 4 ¢ =0 iUl G |[ (I)T
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Tangents drawn at the ends of diameter of & circle are ............ .. to each'other i
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Q.No.2  Write Six short answers to the following 2x6= 12 H i lovrgetdite 240
Solve by factorization 3y’ -~y (y~5) Iy -y (y-5) éd’ﬁ‘i.ﬁ;}g 1
Write equation in standsrd form ”i;i-gsl #-5— 1 ZePiSeit | 2
Bvaluste (1-w-w") U-w-v) ki s
Wi tha quadeatic squation' vy sooti’1 5 & ebbBome 1,5 u | 4
o ir)".,ﬁd‘lml;/-l’uﬁuﬁ PX~-gx+r=0 =hsketfon |5
Find sum and the prodnct of the roots of the quadratic equation Px’—qx +1=0 ) 4
..“ ,25(:1*‘.:.1:;,( x?+ (2 ?u;:u’.uﬁ Fepxtg=0 =l B,xfi|6
ilfcr.Bmmemauafthceqmﬁm X +pr+q=0 thenfindthevalueof x?+ P2 1|
| Define direct vacistion dajlerf |1 |
Find x inthe proportion (3x-2) : 4 11 @x+3):7 (Ox-2):4 22 2x+3):7 gpradf 'z’ Lot |8
Find a fourth proportionalto 5,8, 15 5.8,15 G tig |9 ;
Q.No.3  Write Six short answers to the following 2x6= 12 E v Levrgetdivs  340r
| Resolve into partal faction —— = & eu |
Describe difference of two scts with an example E O nassfled | 2 |
' &+ AN(BUC) 7 C={1,4,8) s B={2,4,6,8) , A={1,2,3,4,5,6) ./ 3
If A={1,2,3,4,5,6) ,B={2,4,6,8) and c={1,4'.s} thenfind AN (BUC)
Find s and b if (a~4,b-2)=(2,1) (a-4,6-20=,1) Jigle* b s |4
Write all the subsets of act {s, b} é“f’fﬂ;é e | s
_ Define Median A T ]
Define range Eafler |7 |
110,109,84,89,77,104,74,97,49,59,103,62 & A rJunloP N | 8 |
Find mngo of ths following weights of students 110,109, 84,89,77, 104,74,97,49 59,103, 62 |
What is histogram ? ‘a2 L5 | o
rQ.No.4 WriteSixlhoﬁnnmmwlhcﬁ)llowing 2x6=12 éﬂjapﬁfﬂﬁc—mr{addiba 4/.}‘)1:'

Find @ if £ =2cm r=3.5cm

=27, =35/ Ggl e 0|1

Verify thar  Cot 6. Sec 8 = Cosoc 8

Cot#.SecH =Cosecf SZh=ct | 2

What is meant by the projection of a given point ?

tes e L5 | 3 1

Differentiste between minor arc and major arc of a circle

& IS T s T il | 4

 How length of s tangent is mousured 7 e ded L Feddudovy’| s
Define an arc of a circle g—!’;l.{d;t;&fh 6 |
Define in-centro & /5, "y L |
Define cireum circle CAEY AR

| Define a polygon é—!’f’ Stwn s | 9
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NOTE: Attempt THREE questions in all But question No, 9 s compulsory

[ ? 33 :
I SoIvzthaequmonbycompleungam .x:+l7‘:(+-‘;-s 0 x1+17x+'3;§ =0 {J’d/(ﬁ".ﬁ:i‘-
!

| Prove that X4y 42 Ay = Gty+2)x+ wy + WD x+wly ) Gt

! a2 _ [aleci+e? uv @ _ ¢ @
i b~ \biediep Ig[._,,m«h=d=-r-(a,b,c,d,e,f,¢0) A

2
I ceSwia,b,0,d,e,F, 20}, showitia ghec e

5 [jictesel
b yb2+d2ep

! i . 9 9
Resolve into partial fractions m . 6‘:1_)(3‘-’*_2)? ﬁ'pkb’ Ll

®

X-Y=XnY /ﬁ.—a.c??‘x'={1,3,5,...‘.....‘....17} s X={1,3,7,9,15,18,20) U={1,2,3, ... ,200 Si
If U={1,2,3,.0ccoco.. 120}, X={1,3,7,9,15,18,20) end i 51§ G G AT— 117} thenshowthat X-v=Xn Yy’

Find the standard deviation ‘S’ of st of mumbers 9,3,8,8,9,8,9,18 9,3,8,8,9,8,9,18 ﬁ'f#‘s‘qy‘;g,gv
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®

—_—

1+Cosf Sin® 1+Cos@ Sing
Verify that J«-—oi. _— J———i e =00 iu:.gl‘/\:ﬁflfzﬁb

1-Cosé 1-Cos# 1-Cosél 1=Cos#

‘f"uv.f;”mﬂx(s.s it /&u,ufn-w( 325 J-».Ccﬁgcéf oy |

Draw two circles with radii 2.5 cm and 3 em. If their centres are 6.5 cmupm.ﬁlmdmwtwodimctcomnwumngcnu

s |

(B)
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Prove that two chords of a circle which are equidistant from the centre are congruent

or/{

Prove that any two angles in the same segment of a circlo are equal u:l‘l.xz.l.cf?guxg IR AT B L2 13 1 i <l
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Covo linoar factors of X2~ 15% + 56 are 5 BB sfnlx’-15x+56 | (1)
&+7),&+8) @ &-1,&-8 © x+7),&-8) (B x-7,&+8)

f o « [ are the roots of the equation % -x+4=0 thenc< B is :_..ru «<f ?u.ng;uﬁ X x+ 4= 0 =hls B e Si | @

o o =® uo|
_ 7 4 7
ke iD=t om0 e ' QL e -ax+ 120 2ite | (3)
| " jational (Pt 7 (D) imaginary (% 2 (C) real, unequal P os®  real, oqul J"uv(A)
'ncfmpmﬁww ity ew U Ry Hviw | (4)
' ' viycm w© T® 3 LAY
1r $= 5 . ton componcndo propesy i o7 eS| O
: ab_ed oy M oy 2. L Bt
h d b'f = a=b d a+b c:3d+1
o B | et e | ©
2 constant term fJ"J(D) an identity v (© anlmpmperﬁ'wum ¢ (B) aproperfraction o2 (A
The set {x/xEWA:<lGX}m : et {x/xeWAx<101) | ()
Finitoset cr$t (D) Nulset sol (©) Sbaet orl’ B Infniteset x5t d (A)
The relation {(1,2),(2,3),(3,3),(3,4)} is febodtdiee {(1,2,2,9,6,9,6,0) 4| ®
-One-one function fiips-ws (D) Nota finction c.u"d‘u (©) Into fimction (Fi&Jyi (B) Onto function JSEJuT (A
Msptmdotwm“nfobamtummadanutucnned : f_rl.b‘(,!l}»_{er[,ﬂJ[:’{_;/ @
: . modian s (D) contraltendency w§s$7/ (C) dispersion /51 (B) aversge s (A
I raitis = i it = s | (10)
' ; C30° () 150° (©  125° (B)  135° (W)
- - S T Sy P
; 286’8 (D) Cos8 (C©) Sec’6 (B) 2Cos’6 (A)
A complete circle is dividedinto et emS | 1D
i 360° @ 270° (©) 180" B 90° (A)]
VPR T e WS L e Bhp L | (13)
Twomngentsdnwntoacmlefmmapomtomdeltmnf ......................... in Jength 2
' Triple ¢.¢ (D) Double 5 (C) Equal s, (B) Half _id (A)
Fotonec iy udos Y. /K/’L.J!‘L 60° LSS ¥ i L {14)
If an arc of a circle subtends  central angle of 60° mwmmspommgchordcfmemwiummmwmr
' ' 80° ()  60° () 40° (B) 20° (W
How many tangents can be drawn from & point outside the circle ? SEE NS e Lt | (15)
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Yo.2  Write Six short answers to the following 26=12 L Fehiz B Lot ge 2ditn 240
ine exponential equation Eov/feidiad | 1
te the quadratic equation —— + X2 =6 inthestmdmdform 2 Lride S Z 406 e |2
I the discriminant of the quadratic equation 6x' —8x + 3 = 0 E P ION 6834320 whiefw | 3
wate  (1-3w-3w"’ (-3w=3w) grmad |4
% the quadmtic oquation having roots - 1,7 unt =1,27 Sl il | 5
ae synthetic division G307 s
Undz 3i4 al 2P+5:3P+4 B Sigl e b |7
the valno of P, ifthe ratios 2P+ 5:3P+4 and 3:4 are oqual '
2 third proportional to 28 ,4 & oA A28 | 8
Je inverse varistion G SRt |5
0.3 Writo Six ahort answers to the following 26 =12 F Gz Lot ge Blitn 340
Ive into partial fractions EJ:E-)TI:E f 'a%;) #uk?uﬂ/mz 1
B={2,4,5,6,8) A={1,2,3,4,5} £& > (B-A) sl (A-B) | 2
(A-B)md(B~A) when B={2,4,5,6,8) A={1,2,3,4,5}
e ' ' L /derd |3
L xM when La(-,b.c}md'n={3,4} L={a,b,c} s M= (3,4} Sgl ~LxM |4
;-l;amn.inmdkmgeofkwhwRt{(l.!),(Z.Z),(S.S)} R={(1,1),2,2),(3,3)) £gL M EmetidR | 5
12,14,17,20,24,29,35,45 g 2 biloWirtisne | 6
rithmotic mesn for the data 12, 14,17, 20, 24,29, 35,45
g G fler |1
4:4.5.5,6,6,6,7,7,5,7.5,8,8,8.6,5.6.5,7 & b ubasslitrs gl 8/ errSidiimtipe | &
1o mode of tize of shos for the following data 4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5.7
»median o &/l | 9
-4 Write Six ahort answers to the following 2x6=12 é‘,‘f;j.g,;m/”ﬁ.:.mmp.-_‘;dsau 4 A
us 135° into radians T drgsd 135 | 1
2, wheﬁf=2cm md r=35cm ra3s -, f-z('.ﬁ{r}“ ‘e’|2
+ o7 dimension Et ey | 3
Httermod ofa cirels : &/l |4
SRRt ety Fivdly I ' Evdv Lo s
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NOTE: Attempt THREE questions in all But question No. 9 is compulsory

i

Solve the equation using quadratic formmls 42— 14 = 3x 4 -1423x S a1 liridond i

Solve the simultaneous equations x°+ 2y’ = 22 3+ =29 X+2yt=22 ,5x +y =29 éd’fuﬁl;hﬁﬂ

)

wx =B fy BR XN L 3l SR Lok

y+2 x=ly  x-2z

Using theorem of componendo~dividendo , Find the valus %4-%3 ifxag-';

. 5 . 3x+3 3Ix+3
Resolve into partial fraction DD TRy ﬁ.—gk[’{,t/d:z

®)

X-Y=XNY S ed?¥n{1,3,5, 17} s X={1,3,7,9,15,18,20} U={1,2,3, o, 20} i
If U:{l.2,3,.......‘........20}.XS{I.3.7.9.13.18,ZB}Imd-Y-II,B.S..............;17} then showthat X-Y=XNY'

Find the standard deviation * S for the data 9,3,8,8,9,8,9,18 9,3,8,8,9,8,9,18 g » ‘S’ Ui i

a7

®)

ErdynSasn e 250 Wiy e 2 40 (NS5l
A tree casts a 40 meter shadow when the angle of elavation in 25° . Find the height of ths tre,

un”3 (4,76 JAUWL},H#' BC,AB w&!fgﬂdbdlgf ABCaB UL AL
Escribe a circle oppotite to vertex A to a triengle ABC with sides |AB| = 6 cm, |BC| =4 cm., ICAl=3 em

(A8

(®)

-f_yJ}ru'bg,‘-.L:lme...gmﬁuuiuf :_fﬁ:.:.cl‘
Prove that: One and only one circle can pass through three non-collinear points, '
or/l
V. p }-# f@ﬁ.&ﬁé)/&d:}b&(_}bgﬂ' S5 { e
Prove that! Thcoppmitamgiaﬁfmqudﬂlmdinnn'bedhachdemmpplmmy
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